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Q1. ey
compulsory and carry equal mark _
L~ Whirh of this is not a gwded media’-’ S
r‘ OptionA: Fiber optical cable
OptionB: Coaxia! cable -
OptionC: Copper wire
OptionD: Wireless LAN

2. Frrol control an
model.
Option A: Apphcatio
Option B: Session .«
Option C: Data link layer
Option D: Presentation”

wcontrol are the fanctions of the following fayer of OST

=

Option A:  |Bridges -
Option B: Hubs & &
Optioi C: Routers .
Option D: Gatew,a‘vs, !

> network layer of the 05l model,

470 thca of followmc';pm‘
| OptionA ICMP- .
Option B: l,(JI\’IP >
OptionC: - [IGRP - £~

Option D~ |ARP-

Optioni A: - |Repeater

- Option B: - [Switch ™
- Option C: - Bridge«
- OptionD: \Reutcr v

S DR SR WhiCHéf:jcﬁe following is not an application layer protocol
L5 Optioh Az & S| TP~ o 3
~ OptionB: ~ [SMTP.
- Option C: HTTP
'~ Option D: DNS

7. [Find the class of address 14.23.120.3,
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Option A: lass A &3
Option B: Class C
Option C: Class B
Option D: Class D

8. Telnet is used for
Option A:  JAssigning IP address to a host
Option B: Remote Login
Option C: Assigning name to an IP address
Option D:  \Video Compression -

9.
Option A: Network layel .
Option B: Data link layer
‘Option C: Session layer -
Option D: Transport layer

10.
Option A: . [HTTP
Option B: SMTP
Option C: FTP
Option D:

Smarkseach

marks cach

. 5) What is the length of the header? -

1) ‘What is tne source port number? ,
|2) What is the destination port number?
3) What is the sequence number?

{4) What is the acknowledgement number?

S Differentiate between Bus Topology and Ring Topology. :

'8 ‘,\'E'Xp’l"ain Three-Way Handshaking for connection establishment in TCP

3y SOIVe any One 10 marks each

o Expldm HDLC frame format and the control frames with neat diagrams.

| Explain bit stuffing in HDLC.

Classify transmlss on media. List the appncanons of each Compare Twmed pair
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P
Sy

L;

cable, Coaxial cable and Fiber optical cable.

Q4 (20 Marks Each)

A Solve any Two

L Explain Selective Repeat ARQ.

il. Explain the transition states of DHCP with a neal

1ii. Comipare RIP and OSPF unicast routing pmto

B Solve any One arks-each

i

An ISP is granted a block of addresses startmg Wlth ‘60 100 0 0/16. The ISP
needs to distribute this address to three groups of castomers as follows
Group I The first group has 64 custo 2c ddre;

Design subb‘ocl(q and mvp e slash: nc;atlo‘n for each sub block. F md hcw many
aadresses are still avallable aﬁer this allocauon

iL
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